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C Finding the Slope )

F 1o sl _aise 2™V
ormula: slopem = ——— = X, - X,
. 3
Example: (4,3) and (8,6) rise = y,-y, run = X, = X, m = m
11 11 =6-3 =8-Y4
X, Y; X, Y,
=3 = 4y
Use the given points to find the slope of the line.
@(0,0)ond(5,2) rise = - run =
m =
® (1,2) and (-3,4) rise = - run =
m =
© (5,2) and (6,5) rise = - run =
m =
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N

C Finding the Slope )

@ (-4.5) and (1,7) rise = - run =
m =

®© (3.4) and (8,6) rise = - run =
m =

@ (2,1) and (5,4) rise = - run =
m =

@ (-3,1) and (4,6) rise = - run =
m =

® (-1,4) and (6.,7) rise = - run =
m =
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ANSWERS

( N

\Finding the Slope )
@ (0,0) and (5,2) ® (3.4) and (8,6)
rise=_2 - 0 run=_5 - 0 rise= _6 - 4 run 8 3
= 2 = 5 = 2 5
2 2
m = 5 m = 5
® (1.2) and (-3.4) @ (2.1) and (5,4)
rise=_H4 - 2 run= -3 - 1 rise= 4 - 1 run 5 2
= 2 = -y = 3 3
ior -i i or
m = 'I'I' I'I' m = 3
© (5.2) and (6,5) @ (-3.1) and (4,6)
rise=_5 - 2 run=_6 -5 rise=_6 - 1 run 4 -3
= 3 = 1 = 5 7
3 5
— or —_
m = 1 m = 7
@ (-4.5) and (1,7) @ (-1,4) and (6.7)
rise=_7 -5 run= _1 - -4 rise=_7 - _H4 run 6 -1
= 2 = 5 = 3 7
2 3
m = 5 m = 7
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